
Rationals 4-Way        Form A     Names: 

GIVEN:  

   𝑓𝑓(𝑥𝑥) = 𝑥𝑥2 + 2𝑥𝑥− 8
𝑥𝑥2 − 𝑥𝑥 − 2

 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

PERSON #1:  Factor the function PERSON #2:  Find the x-intercept 

PERSON #2: Check and initial: _______________ PERSON #3: Check and initial: _______________ 

PERSON #3:  Find the y-intercept PERSON #4:  Find the horizontal asymptote 

PERSON #4:  Check and initial: __________________ PERSON #1: Check and initial: _______________ 

PERSON #1:  Find the vertical asymptote Person #2:  Find the coordinates of the hole. 

PERSON #3: Check and initial: _______________ PERSON #4: Check and initial: _______________ 

PERSON #3:  Graph the asymptotes. 

PERSON #4:  Graph the function. 

PERSON #1:  Label the x-intercept. 

PERSON #2:  Label the y-intercept. 
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